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1) A race was 334 meters. If 69 people ran in the marathon how many meters would they
have run total?

2) A pizza chain uses 856 grams of cheese on their pizzas. If they sold 63 pizzas, how many
grams would they have used?

3) Olivia was building a LEGO tower. She built it with 758 stories and with 43 blocks on
each story. How many LEGO blocks would she have used?

4) A pallet of toggle bolts weighs 386 kilograms. If a warehouse has 50 pallets, what is their
total weight?

5) There are 669 hotels in a hotel chain. If each hotel has 88 rooms, how many rooms are
there total?

6) A lawn mowing company had 484 customers. If each customer paid 36 dollars a year, how
much money would they make?

7) A candy store had 444 empty shelves. If each shelf can hold 41 pieces of candy, how many
pieces would they need total to fill up all the shelves?

8) A vat of orange juice contains the juice from 605 oranges. If a company has 52 vats, how
many oranges would they use to fill them all?

9) In NYC each mail truck has 731 pieces of junkmail. If there are 22 mail trucks, how much
junk mail do they have total?

10) A farmer has 631 rows of corn. If he can get 46 ears of corn from each row, how many ears
of corn would he have total?

1. 23,046

2. 53,928

3. 32,594

4. 19,300

5. 58,872

6. 17,424

7. 18,204

8. 31,460

9. 16,082

10. 29,026

     

Solve each problem.

Finding Product (3 × 2)
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5) There are 669 hotels in a hotel chain. If each hotel has 88 rooms, how many rooms are
there total?
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) A race was 334 meters. If 69 people ran in the marathon how many meters would they
have run total?

2) A pizza chain uses 856 grams of cheese on their pizzas. If they sold 63 pizzas, how many
grams would they have used?

3) Olivia was building a LEGO tower. She built it with 758 stories and with 43 blocks on
each story. How many LEGO blocks would she have used?

4) A pallet of toggle bolts weighs 386 kilograms. If a warehouse has 50 pallets, what is their
total weight?

5) There are 669 hotels in a hotel chain. If each hotel has 88 rooms, how many rooms are
there total?

6) A lawn mowing company had 484 customers. If each customer paid 36 dollars a year, how
much money would they make?

7) A candy store had 444 empty shelves. If each shelf can hold 41 pieces of candy, how
many pieces would they need total to fill up all the shelves?

8) A vat of orange juice contains the juice from 605 oranges. If a company has 52 vats, how
many oranges would they use to fill them all?

9) In NYC each mail truck has 731 pieces of junkmail. If there are 22 mail trucks, how much
junk mail do they have total?

10) A farmer has 631 rows of corn. If he can get 46 ears of corn from each row, how many
ears of corn would he have total?

18,204 53,928 16,082 31,460 23,046

58,872 32,594 17,424 29,026 19,300

1. 23,046

2. 53,928

3. 32,594

4. 19,300

5. 58,872

6. 17,424

7. 18,204

8. 31,460

9. 16,082

10. 29,026

     

Solve each problem.

Finding Product (3 × 2)
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